Roll No. :

el T o T ;18] [ Hfs J8T i HEAT ;12
Total No. of Questions : 18] [Total No. of Printed Pages : 12
K-241200-A
¢ Thet uftert / High School Examination
fawa : fagm
Subject : Science
1Y ; 3 90¢) [quTih : 75
Time :-3 Hours] [Maximum Marks : 75

e - oft v vt Fifg
Note :- Attempt all questions.
amr=g g -

General Instructions :-

(i) mmla@ﬁzmﬁl 39 GUE (37), @8 (7) T @S (H)
WA 8 TAF GUE | 5 T & qIT &Y T | e Araifed &
givenferd faremdf sear 3 ary g we fdst @ ot e Yy

Question No. 1 is objective type question. It consists of
Section (A), Section (B) and Section (C). Each section has

5 questions of 1 mark each. Visually impaired students follow
the instructions as given with the questions.
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Question Nos. 2 to 6 are very short answer type questions. Each

question carries 2 marks. (Maximum word-limit of each answer
is 30 words)

T I 7 10 T A3 T 8 Tk I W 3 3
Frafea {1 (I I AR se-HiwT 50 WeE R1)

Question Nos. 7 to 10 are short answer type questions. Each

question carries 3 marks. (Maximum word-limit of each answer is
50 words)
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Question Nos. 11 to 14 are short answer type questions. Each
question carries 4 marks. (Maximum word-limi

t of each answer is
75 words)
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Question Nos. 15 and 16 are long answer type questions. Each
question carries 5 marks. (Maximum word-limit of each answer 1S
100 words) |

Question Nos. 17 and 18 are long answer type questions. Each
question carries 6 marks. (Maximum word-limit of each answer is
150 words)
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(Section — A) Choose and write the correct option:
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The largest ecosystemis

" (a) Pond (b) Farm

(c) Sea (d) Garden
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Darwin theory is based on:
(a) The observation of his voyage

(b) From cell theory
(¢) Mendal’s law of inheritance

(d) None of these

(i)  UEAATEH I H AT G
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The general formula of alkanoic acid s _
(a) ROH (b) RCHO

(¢) RCOOH (d) Rd
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Which of the following element does not show
allotropy:
(a) Sodium (b) Oxygen
(¢) Sulphur (d) Phosphorus
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Relationship between focal length and radius of
curvature is:
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(Section - B) Fill in the blanks:
(i) 3t st I pH 79 AFA AR
The pH value of acid rain is less than
(i) AFERIMEH _ F ARH-5H & FROT AR
Change in temperature occurs due to exchange
of .
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The enzyme secreted from the stomach is
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SI unit of resistivity is
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Packing gaskets are made of
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(Section — C) Match the following:

(1)

(1)
(iii)
(iv)
)

(A) (B)
NH,OH (a) Noble gases
Neon (b) Convex lens

Wind energy (c) Carnivorous
Astronomical telescope (d) Weak alkali

Tertiary consumer (¢) Renewable energy

[1x5=5]
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What is biosphere?
[1+1=2]
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What is solar heating device? Give one example.
: 2
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Samaru added baking soda to raw milk and changed its
pH value from 6 to 8. Why will it take more time to
make curd from this milk?
a5 fragors fafe fa s & 12]
What is methylated spirit?
TH-6  FHiYw fRe wEd & 2]
What are alveoli?
-7 14°F @ Afcaaw ¥ sefag 31
Convert 14°F into Celsius.
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What is relative refractive index? Write its formula.
99 W%Ww%maﬂaﬁaﬁ%ﬁm 141
List the three ways in which eti
produced. snetic field can be =3)
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Characteristics of al| the organisms present in a class
group are similar. Write any three reasons of this
similarity.
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Write the chemical equation for producing PVC and its
two uses.
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What is bleaching powder? Write its two uses.
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What is adaptation and fossils? Explain by giving

examples.
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Explain the process of Sex determination in humans.

Note: Visually impaired students should write the names
of the zygotes in place of the diagram for sex
determination.
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Write any four differences between Breathing and
Respiration.
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Write four differences between Sexual Reproduction and
Asexual Reproduction,
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What is a Salt? How is the nature of a salt determined?
Take NH,NO, and Na,CO, as examples and explain.
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Atomic number of three elelhents are 5,7 and 10
respectively. State that- -

(1)  Which element belongs to group 18?
(i)  Which element belongs to group 159
(iii) Which element belongs to group 139
(iv) Al these elements are from which period?
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Electrical Circuits are used in our homes. Fixplain
the points for domestic circuit-

(@)  Overloading

(b)  Alternating Current

An electrical current of 0.5A flows in the filament

of electric bulb for 10 minutes. Find the magnitude
of electric charge flowing through the electric

circuit,
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Define paxallel combination of resistances and

draw an electric circuit for this.
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(i) How much work will be done in carrying a C_f:fg
of 2 Coulombs between two points of potenti
difference of 10V,
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Note: Visually impaired students will write only. f0@
in place of circuit diagram of series combination.
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What 1s refraction? How it is different from reflection?

- Write two uses of the phenomenon of refraction.
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What is a Concave mirror? Which mirror is appropriate
to obtain the image on the screen? Write two uses of
Concave mirror.
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(1)  Write three industrial uses of hydrogen.

()  What is alloy? Write the names and uses of two
alloys.
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(1) What 1s Corrosion? Describe two factors affecting
1t.
(11)  Write three industrial uses of nitrogen.
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(i) Draw alabelled diagram of nerve cell.
(ii) Where is pituitary gland found? Write its
' functions (any two).
Note: Visually impaired students will explain the parts
of the nervous system in place of the picture.
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(i)  Draw a labelled diagram of human digestive

system.

(ii)  What is blood? Write the names of blood

corpuscles (any two).

Note: Visually impaired students will explain the parts
of the digestive system in place of picture.
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